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m B =iE FE =iE &=iE B ZfE =i B =iE
NS THLUS 17kdk B 221 1,071 1,292 9,180 0 5,940 10,152 0 6,588
HEMH 10keg EBRS 2,330 0 2,330 2,700 0 972 0 0 0
FFH 10ke B 2,420 0 2,420 3,240 0 3,024 0 0 0
JL—77)0L—y 17kg |FLa 102 748 850 6,480 0 4,752 5,724 0 4,320
BMALEY 17kg * B 192 0 192 9,180 0 8,100 0 0 0
TRy 18E 5kg BiR 0 1,321 1,321 0 0 0 0 2,268 0
AES 8. 2kg FY) 8 0 8 0 5,400 0 0 0 0
AFa1—A~2 Skg BHE 10 0 10 3,024 0 2916 0 0 0
INFF+ 13ke TL)EY 6,777 0 6,777 3,942 0 2,160 0 0 0
%X & 5t 101,294 32,659 133,953 0 0 0 0 0 0
R X &Gt 19,764 6,556 26,320 0 0 0 0 0 0
#w & & 121,058 39,215 160,273 0 0 0 0 0 0




